———

= R AL

110 & 1 % p#% A&

= Wk At B ohttp://rotarysh.org.tw/

L.

%1180 bl ¢ o (R B > kg
P® 1 1p(aHI)

% 1181 = b1 € o (H B 6] €)
pE 1 8p(aET)
R D¢ = 12100

pEE G - BERCRFREEFELTTZ 550)

%31182:’11’}@%0 £ EZR 3
pPE i1 12p(EEHo)

PR P = 12030

PRI LERBAEERE(IB R LR K925 W)

M RI-ATEE

pEr 1 16p ()
PR = 09:00
i?)%ﬁ(li’é}&'frl 11%{)

l——w,_\!:. 72

% 1183 = o) ¢ -

pEp 12 2lp(athe)
PR LY x 12030
WoEL S OEER AL § R (BT R L TR 548 5L 8 )

- A H DIRER £

pap il

27T p (2¥ =)

pERrc 2= 10: 00

f«ﬂ‘b:;ﬁ_;ﬂ%

U790 g o (& HBRE 5372

pag ]
)%F%Fﬁ

B IpERE

)
DT E 14 30(BE A
//;%i—k:ﬂ!:': =
D 18 1 00(A %
B Az 8E

299(“)91

s R EFET R

UU/'\\\\

VPR R R (R BT

)
)%] F; 2 ? o
rush =

109.12. 22. i3 iz

z %)

A hAd)

= L = i = /§ /-f—%gi %44’ )

—%%%@%%ﬁ%u?@ﬁ%%ﬁo

2 BE2LR

WE;»297‘E‘ 32 %)
A2 #ﬁl&’"ﬁ
}:{'?@T :ﬁ:~1562§“i)

Nu- 7:-



http://rotarysh.org.tw/

